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Answer ALL questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.
Write down the value of the 7 in the number 58 728

Werite down the value of the 7 in the number 82 172

(1)
Write down the value of the 7 in the number 71 828
(1)
Find v2.25 c
IS x |5 =22%
1.5 x -5 = 226 .. e -5
v (1)
Find v7.29
qx9 xa =121 |
qx2xA% 3 = 72?:_, o e
Jja= 21 ¢+~ g = (1)
Find V1.96
" . = 19 .
i A
[ x Vo= | N



10

11

12

Write 39% as a fraction

Write 7% as a fraction

Write 12% as a fraction

. .
Write Sasa decimal

Write g as a decimal
10 - 9 ,_\__70'2
e 5 B g
5 02 x4 = 0%

L7 .
Write Jgasa decimal

Write c as a percentage — Lr
4 . -
25.°

"k
........ 19
(1)



14 Write % as a percentage

oin
q ™ "qo

()
i el 0‘0‘ fo
o IO s
S Y (1
X\O
15 Write ;—; as a percentage
o
‘ o
77 %5 25%
Q0 & [0 (1)
16 Write down all the factors of 12
| K \2 l ‘
2x6 2,314,612
25 P @)
17 Write down all the factors of 45
| x 5

k5 x 9

18

(2)
Write down all the factors of 32
| % 52
2 xlb y 214/8’)6'32
Hx B 2)
19 Write down all the factors of 60
Ixeo  4x 15 | :
2x3%0 5 X |2 , 25, 4/5'é/|o,|2,i5/
XK OY SN
Ix 20 XIO 20,30,60 (2)
20 Here are some fractions. // \/x /
12 3 5 3 6 2
36 9 15 10 18 6
Which of these fractions is not equivalent to g? 5
JjO
(2)



21 Here are some fractions. //x / /x

33 6 10 21 18 4

44 8 15 28 24 6

Which of these fractions is not equivalent to -j;?

0 W
9
(2)
22 Here are some fractions.
‘/Di / S %
8 18 40 12 80 5
10 20 50 15 100 6
Which of these fractions is not equivalent to 2
5
14 5
2o &6
(2)

23 Here are some fractions.

10 30 45 15 30 4

Put them into order.

36 5 16 13 8l LTz
90 G Y90 90 9o Yo

w 11 2% 1327 = “ '
o %0 45 1S 2o 7; ....................................
(3)
24 Here are some fractions.
7777
10 15 45 25 20 4
Put them into order.

1 1 1 1 11

L5 75 20 15 10l
(3)
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26

kso-(2¢0 +4

27

Joe has some £10 notes and some £5 notes.
The notes have a total value of £350.
Joe has 11 £10 notes.

Work out the number of £5 notes Joe has.
W x1o = IS
250 — [lo= 24°

200 =5 7 43

Bill has some £20 notes, some £10 notes and some £5 notes.

The notes have a total value of £450.
Bill has 13 £20 notes and 8 £5 notes.
Work out the number of £10 notes Bill has.
12 x 20 = 260
gx5 = HO
—E-R 50

Tilly has an ordinary fair dice.

She rolls it once.

a) On the probability scale below, mark with a cross the probability that she throws the

number 4,

| * | | | |

I | I
1

0 - 1



\
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(/i‘,\’.\’\/ 12/, —
' N 6
b) On the probability scale below, mark with a cross the probability that she throws a
number less than 4.

I | | )k | | I

0 > 1
c) On the probability scale below, mark with a cross the probability that Tilly throws a Lf’
number that is greater than 3 or even. L{. y 5’ éz oY 2 —_
©
I I I I \/ | |
I I s I
1
0 - 1
d) On the probability scale below, mark with a cross the probability that Tilly throws a =
number that is less than nine. C@(’ICCUJ\
I | | | ] | )K
I |
1
0 - 1
e) On the probability scale below, mark with a cross, the probability that Tilly throws a _ I
nine. \MPCJS}I b Q.
\/Ié I | I | | I
1
0 - 1

f)  On the probability scale below, mark with a cross the probability of her throwing an (S
even number. 2 . Lf-/ > —

| I | * | I |

| I
1

0 o 1

(6)
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Here is a menu.

Starter Main Course
Prawn Cocktail (P) Steak Pie and Chips (S)
Lentil Soup and Roll (L) Vegetarian Lasagne (V)
Tomato Soup and Roll (T) Beef, Potatoes, Peas and Carrots (B)
Yorkshire Pudding with Gravy (Y)
Delicious Pancakes with Brown Sauce and Gravy (D)

Gabby can choose one starter and one main course.

Write down all the possible combinations Gabby can choose.

fs

tv P6 Vs YV VB

LS LV LB DS DY DB
15 TV T6H

29

(2)
Jacob is 1.42m high. | 20 nawa
Hayley’s height is 154 cm. |5 H0 s
Sarah is 1504 mm tall. 150 - ania

a) What is the range in heights?
Tadlest 15HO rom
Shorbest IFIEEs e

_ 546 — 420 = |20 120 rm
RCW e JHws e T SR e ke

b) What is the mean average height?

(420 + i540 + 1504+ = L'H+3UP = |4+8%
s 8 5

c) Sonny joins the group.
The mean average height of the group alters to 150cm.

How tall is Sonny?

%Y

o Ay
14g8 + 1488 + 4T T Jonny = 1000y,
: "t

,‘.) L6 Y —i—Som’}j = 000 3)

Senny = EOVO ~ o't
= \536 8



30 The nth term in a sequence is given by 5n — 2.

a) Work out the fourth term in the sequence.
5(1)-2 = 20-2
(1)
Here is another sequence.
8 15 22 29
A O B
b)

What are the next two terms in this sequence?

2, 43

c)

Is 64 a number in this sequence?

You must give a reason for your answer.

= i

.C-QQ~=7nﬂ-\)_i

CG)‘S =17 Y =7 s, Gl (s the Ftn
'.'" .| v e B s sesesanses
‘ = A (zfﬁm
Here is another sequence.
1 2a 4a*> 8add
X2 x2% KN
d) What are the next two terms in this sequence?
;3 5
6ot | 32a
it
o™ 824°



31 ABCGF is an irregular pentagon.

FGH, GCD and BCE are straight lines.

Find the size of angle x.

s

( p(v\ﬂ\e\\

& You must give reasons for your answer. ) % LDC,,>
e = A%° (Verticadly Cpfosite e |
BC ( b°@_sm . Shracylhk Une botad 1807)

[ FGC = \@O-—‘—“ = \Oq .
:51—{-0 ‘—3“1‘1 *"I"‘f"

L x = S4o— (1ot +ag+ a0 ¥ 02)

Suweo, wlener
&vlees n @ Ve‘”*‘tjwv

10



32 BCD is a triangle.

ABD is a straight line.

Find angle x.

You must give reasons for your answer.

%

[ EEB=- 180124 = 56° anles
L Bep = 3o - 261 = 47 (Fugles e

| coB = 180 —(56+4%) = 180 ~165 =2

o = Lo =240 =

11



33 There are 500 coins in a bag.

10% of the coins are 20p pieces.
15% of the coins are £1 coins.
35% of the coins are 2p pieces.

The rest of the coins are 10p pieces.

What is the total value of the coins in the bag?
0o 6) Seo =50
15 "fo d}’ 50© = 15
25 ¢ 500 T 175
Co X 2°p= £ic-ce
15 x £ =£75°°
|75 x Zp¢ f3-50 Q
oo — (10 + IS1. + 39‘/) = Lole
o

\i

i

. 0O
200 X ‘O’f’:g?’o

, = 1 108-50
20 .00 4+ 175 .00 .,\.\o-oo-\»’g-bo — £

34

(5)
Bill put £250 in a bank account that paid 4.5% compound interest per annum.

Bill did not touch his account or the money in it for 15 years.

How much did Bill have in his account after 15 years?

Cr = PR

15
= 950 X <045

fugs g2
- U483 .820&108

12



35 Blake buys a house for £210,000.
Blake pays a deposit of 15% of the cost.
He pays the rest in 360 equal monthly instalments.

How much does he pay each month?

2ico00 0O X i5°_/<,- = 21500

| O
5%fo

(S Jo 50°

2e0l 178 500

s,
-

iSOO
178500

36 a) Simplify t14 + ¢8
t\l-(-'g _ té’

b) Simplify (d®)*

I xY (2
4> -4

c) Simplify g X q”
I T
49 ~% -~

d) Simplifyw +w +w + w3

3w+ W

R 7
ot Litce
Co(MS

W 21000 ) {l7&5m>(%ﬂrh>p%7,
4as -833

(3)

G
B
(1)

d (2
(1)

C’l/g

(1)
3w+ w?
(1)

13



37

a) Expand x(4x? + 5p)

x>+ 5p
'oc/\%? + 5>

b) Expand 2f (4f*g° + 5f)

| 4£%° & 5F

24 ‘85595 + 4"

c) Expand (8x — 3)(4x — 2)

f) Expand x?(4x3 — 3x)

by’ - 3%

Lfl5+5 ..... X
(1)
(1)

14



38 a) Factorise 12x% — 8

Qx>+ -7
Ty e -8 U (3> 2
13 \2%¢e -6 T\2X (1)
b) Factorise 24p3q? + 9p*q® 3
A BPCV 3 ( 3:)
0 574 G &, 307989, 4.3p
c) Factorise x* — 25 ém
“fDiferenc ¢
e/ (245)(x-9)
(2)
d) Factorise 16x* — 36
’ - /\ua 2 3 ( — A :
Ao ™M bhx -6 )(Hx” +§
“D\ﬁwg\)&{e& ( ............ > ............................ )
(2)
e) Factorise 8x2y + 12xy3
| 2% & Sy

oy | @y + 2y L

f) Factorise 15x*y®z7 — 10x3y*28 + 25x3y*2°

y 4

\%%yz—'

=, R |

51334141 15 2y —

/
Take, \owest oo, yod
‘et jmvw. all detws A
tow QISR

15



39 ABC is a straight line.

A (-3, 8) - : % 4‘(‘3) )

i
T 2%
Point A has the co-ordinates (-3,8) 3 3
Point B has the co-ordinates (4, 11) l ‘
BC = 1AB . l
=3 g

Find the coordinates of point C.

(3)
40 A line segment runs from (-5,-3) to (12,-9).
Find the midpoint of the line.
_— 1
W= =~k = ZZ— = 1%
2=
i
j: -—Z"\"q = ",‘_2_: :_G)
( 2 Z ( :
(35,26
..... T . .
(2)

16



41 The diagram below shows a trapezium ABCD.

B 12 cm i
i L]
T
= h
) ’
92 1 []
A 17-12=5 17 cm D
a) Find the height of the trapezium.
5 A<
law $2° = h

5
h= 5Tam 42
= 4 -50202022I
colelade™ Sto = A

b) Find the area of the trapezium.

Area. = 1‘2_ (OV*' b> h

-—
-

= 42-769192.1

Lt .50202022\ ¢ ar

42769192 | e >

17
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Below is a diagram of a 3D shape.

XC

a) Name the shape in the diagram.

b) How many edges does the shape have?

c)

d)

How many vertices does the shape have?

How many faces does the shape have?

e) What is the volume of the shape?

\/ =

\\

Lx bx h

U x & x9-4
25568

wdY6

18



What is the surface area of the shape?

\ = 2((%4 x%) s (3xq ’—Di—@ttxct l;)

= Y (2“,2 e ]G =2 - 2\‘?~é>

= 2 (0668
¥ gl 1333:6.em "

8) What is the total length of the edges in the shape? | (4)

(836 +2-4) = 4 (51-4)
- 2056
.................. 205+ 6 Cm
(2)
43 a)

Use your calculator to work out the value of

51.4 — 3.1%
59 % 6.7
Give your answer as a decimal.

Write down all the figures on your calculator display.

1-057 7768

b) Write your answer correct to 3 significant figures

| 057 106 .

) (1)
N 5or wa

(ouwnds Wy

19



44

44

45

46

Estimate
32.73 X 67.9 x 425
41.75 X 64.3 X 73.8
2 3o x o x 4oo©
o x O X 1O
= (O 5
D et
;A (3)
Estimate - -

(2)
Billy performs a calculation on his calculator.
The first three digits on his calculator are 7.93 and then there are some more digits on his
calculator. i 5¢C
Mmugt be lesS
Give the error interval of Billy’s calculation. / tha
VvV

Jane performs a different calculation on her calculator.
The first two digits showing on her calculator are 6.7.

Give the error interval of Jane’s calculation.

20



47 Ted has rounded his number to the nearest tenth.
His answer is 8.9.

Write the error interval of Ted’s number.

48 Alice and Nancy both think of a number.
They round their numbers to the nearest 10.
Alice’s number has been rounded to 30.
Nancy’s number has been rounded to 70.

Give the error interval of the difference between Alice’s and Nancy’s actual numbers.

95 < Rlice & 39
65 < Mmﬂ <75

49 Beatrice and James both think of a number.
They round their numbers to the nearest 50.
Beatrice’s number has been rounded to 300.
James’ number has been rounded to 1850.

Give the error interval of the difference between their actual numbers

V4814, B4 @ LB 275 < . Bastnie < 325
862 [Ty KWl 140 < Towes <1875

| 50 04 CX <1 oo

21
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Solve algebraically the simultaneous equations

4+ 7y =11 .__.U)
S5x —4y =52 ____U“)
Mu,\’cl\;iﬂj (V) x 4,30 x7 |
16w + 28y = HY -"l"”)
25 - Zgj = 364 ——U“)
Add (i) +(v)

22



< i |

Solve algebraically the simultaneous equations |

5x + 8y = 18 Q)

7x + 10y = 21 g“')
th‘:) a) x7, (i)xS

35x + 563 = 126 --—-L“)
35 ¢ SOJ 05 —W)

Subbra ck U@“’ ()

63:2\
' _ 21
o, j = 2

I
= |
J” 3
1'3"5_

Suwbshbuke W (1)
Sx + 9(3%) =18
Co + 28 =18

. Gy =18-2%
= =-{0
. S
Check \;«Q‘)
1(-2) +10(39)-2 e

- I + 35 = 2 " 3"2.

/

23



52

Convert 783 into standard form

O. X lo"

a <L l\o

53

54

1S

56

57

Convert 93 822 into stanqard form

Convert 83.982 into standard form

Convert 0.0035 into standard form

Write 7.36 X 10% in ordinary form

Write 9.656 x 1073 in ordinary form

N b an mbege(ubsle nusber)

1-83 % |0~
(2)

9.2822 % lo f

llllllllllllllllllllllllllllllllllllllllllll

.0-009656

(2)

24



58 Find the size of angle 6. T@V\- e - C& 5 .

L5 ,
& = +ae,v\ﬂ\ (E‘f:)
| A UD

= b4 (5382406

\

(3)
59 Find the length of side x.
CosG = 45 = 55-62305999
2
x = 49 22762305899 mams
Cos 36
(3)
60 Write down the list of the first five prime numbers.

25





